& HSSC CET Mains ALM Question Paper 31 Dec 2023
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1. 1| .

. n pyvthon IS raused when " ) ‘\EQ
an operator is supplied with a value Of " ‘?l”J’ﬂ-‘-f ti . . I3y :
incorrect data type, e HTZT ) v Cedl .; T 4

el HTY SrfA o) . ™4
(A) TypeError (B) NameError AT R BRI
(C) ValueError (D) SyntaxError lgl = ERSS {B) Fqun
(E) Not attempted L ((E; SR (D) ﬁl’?ﬁﬁhn

2. Gram, Centimeter and Second are 2 oy .E

b m! -
measuring units in Wi I 3R 1 qms .
‘; MKS l (A) MKS
(B) FPS —B) FPS
(C) CGS ‘ (C) CGS
(D) None of these .- (D) 378 & =18 78 i
(E) Not attempted @ (E) 3warfie ; iﬁ-—\

3. The ampere-hour efficiency of a lead
acid cell 1s normally between

(A) 20-25%
(B) 40-50%

(A) 20-25%
(B) 40-50%

foras dfie Bt 2 7

(C) 60-65% Q). 60-65%

(D) 90-95% (D) 90-95%

(E) Not attempted (E) 9amida

4. Magnetization current in a 4 STHGIHT | Faehie TG

transformer produces in ;EB I FHA gy
transformer core. - t I

(A) Eddy current ~A) T8 we

(B) Flux (B)
(C) Power (C) W
(D) None of these (D) ¥4 & F$ 7
(E) Not attempted (E) JA9aTRd

X
S. zd 21"'m[}rj.' ether 5 X
= + 2NaX S 1N O
8 reaction is reaction. T7 PR RIRaT -3

A i — |
A) Wurtz-Fittig (B) Fittig

— - A) TI-ffenr  (B) ffem

S
E) Not attempteq € §i3l /Kﬁ e
A (E) 3sanida
2.
..
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6.

(=]
2
1 E’]

law, the

' is equal 10 ll?r: total
. the surface.

(A) Coulomb’s

(B) Gauss’

(C) Fleming's

(D) Kirchoff's

(E) Not attempted

According 1o Ohm’s law, current

flowing In a circuit
pmpnrtinnal to

(A) Voltage

(C) Resistance

(E) Not attempted

is inversely

(B) Power
(D) All of the above

Machine generating a.c. e.m.f. are
called as

(A) Alternators
(C) Modulators
(E) Not attempted

(B) Transformers
(D) None of these

Which of the following is not a
multi-user/multitasking operating
system ?

(A) UNIX

(B) Virtual Machines (VMS)
(C) Mainframe

(D) MS-DOS

(E) Not attempted

The type of earthing suitable for
sandy areas IS

(A) Horizontal strip earthing
(B) Rod earthing

(C) Plate earthing

(D) Pipe earthing

(E) Not attempted

QQ"&EZE ‘

> - h‘m; AR g,

WQWWTTBH‘HWE W g

FeA AT b W Ay D B

(A) A= =Bl

(B) TTE

(C) FATHT HI

_p) feeEms #

(E) FAATEd

(A) qree (B) 91l
) gfeY (D) I @)
(E) T

g, udl. 3.0H.UH. IUH HH dreil "I

1 e AT & ? ]
(A) IeeHH A4B) TR
@:;Ellclﬂ@ﬁ?é (D) 390 § I3 A8

e (E) SrwETE

0. Fr it & W wedl- /e
sitafen R 7 & 7
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Which of the following s not a trafhic '.
sign ?

(A) Mandatory/ regulatory SIENS
(B) Cautionary signs

(C) Movement signs

(D) Information s1gns

(E) Not attempted

12. Which city is known as Queen of the
Arabian Sea ?
(A) Diu

(B) Kochi

(C) Mumbai

(D) None of the above
(E) Not attempted

oo ]

13. A 6 pole induction motor Is supplied
by a 10 pole alternalor which is
driven at 600 rpm. If the motor is
running at 970 rpm, determine the

percentage slip. |
(A) 1% (B) 2%
(C) 3% (D) 3%
(E) Not attempted !

14. Withamountofcurrent(l). resistance(R) |
and time of current flow(T), formula

for converting electrical energy to heal

energy(H) 1s '
(A) H=IRT (B) H = I°RT
(C) H=1IR (D) H=V/R

(E) Not attempted
i
18. The practical voltage source has emf |
of £ volts and internal resistance is
rohms. If it supplies a load current of
Lamperes, the termimal voltage is

Ef (B) E/r |

I g
(E) Nov attcmp“‘;D’ el

A

11 frfeEd 8 g @i4-H1 AFEA B
J21 7

12. ~ |
FHE AATE
(A) &
43| FIi=
MR CE S 4Ll
(C) He= s
B

[D]‘J':R_iil?lﬁﬁ’éﬁéqﬁ

ezt 2R 61 Al 2 Al 600 rpm W
Hafed B 2 | afg "Jiet 970 rpm W
1 2. A1 ufAem feem fRuif@a $T

(A) 1% (B) 2%

(D) 5%

14. faeq am $1 o (1), 9faoy (R) ﬁl‘{ﬁqa
T WV F0 (1) |1 farega it =l e
F71 (H) § fEfda =@ & 53 7

(A) H = IRT H = I’RT
(C) H=1IR ID) H=V/R
(E) 3varfEq

15. AR deed #d H E dlee &1 eml
| ufr 1wz um H syl Fen R, @
iaE aees T R 7

A) E (B) E/r
(C) Ir ) E-1Ir
(E) 319riEa at
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16. Which of the lollowing tvpe of IE N N m
B Lype ol | 16. frafatigd 5 8 SHE-H1 51 &1 399

instruments are non-directions * ¢ a ‘ e
and can be used for IIH‘HH‘:II“[II-:;I}JU”_I m—w R HTI S’W W W 5'“‘
AC and DC values of current and aieeda & AC HAL DC E‘Fﬂ e SR RE
voltage ¢ 3 fra C o HEAT R 7
(A) Moving iron type (A) Erfe wlE TR
(B) Moving coil type B) P W —_—
(C) Dynamometer type ©) W TFH
(D) Induction type D) T T
(E) Not attempted (E) raTTEA
17. The members of rhodophyceae are 17. TrErEEd & d9ad aHed: _ ——
commonly called FEad & | S
(A) Red algae (B) Green algae _AK) T faret (B) &
| c) feft das (D) CUREL
(C) Blue algae (D) Brown algae | I i
(E) Not attempted (E) e
18. The top and bottom horizontal 18, ZrETR FR H FAl AN freret
portion of the transformer core is u R -
(A) Yoke (B) Limb (A) TH (
(C) Winding (D) Conservator (c) arsf=en (D)
(E) Not attempted | (E) 3TwamEa
19. In delta connected system, the relation | 19. Ecl ﬂﬁﬁg fen ﬁ. E“ITSW EF{; I 3
between the line current I, and phase HH P Iph%iﬁﬂmﬂﬁl

current lm,l 18 (A) II.. - Iph (B) lL - Iph/ JS

(A) 1, =1y, B) I, =1,./V3
(C) I: - ngph (D) I, =3I, €L = ‘Elph AD) 1, =3l

(E) Not attempted (E) wamiad
20. The average value of sine wave is 20. TEA T 1 3Ea 9 9F 0=
_________times the peak value, T 2|
(A) 1.414 (A) 1.414
(B) 0.637 (B) 0.637
(C) 0.5 4C) 0.5
g;: ;f:u (D) 1.732
o E) s

vavmseducathntVCOm (¥ Scanned with OKEN Scanner
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21.

¥ o of
Capacitance Is a ratl
f."ll Voltage 1 voltage
B) Voltage 10 charge

(C) Charge to voltage

(D) Charge 1o« charge
(E] Not attempted

22. The term “Ecosystem Was first
comed by

(A] Sir Arthur G. Tansley

(B) Salim Ali

(C) James Hansen

(D) Rachel Carson

(E) Not attempted

23. __1s used to measure the

width of wires.
(A] Try square
(B) Mallet

(C) Wire gauge

(D] None of these
(E) Not attempted

24. The shunt resistance in an ammeter
Is usually
(A) less than meter resistance
(B) equal to meter resistance
(C) more than meter resistance
(D) of any value
(E) Not attempted

25. The reciprocal of impedance of a
circuit is called

(A) Resistance (B) Inductance

(C) Capacitance (D) Admittance

(E) Not attempted

21, TfE F owaA 2

(A) aTF2H &) dledd #
H3) A2 &) 414 d
‘() ard ) e @
(D) =74 &1 914 A

(E) H941idA

22. “‘zEifgEen’ viez wAH UAA (HEH T
Tl T Al
(A) | 12 A, ZEHA

IrFfrrrﬂFfT

(A) T8 T
(B) el 1 7Tl (Aeie)
~C) AR T
(D) 398 & FI$ 48
(E) 3varfaq

24. THA ° w2 wfqty 3mEk 1w ge 2
—A) H1 ufag g +5
(B) Hex ufqiy & sxan
(Clrﬁauﬁwnaﬁm
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26.

27.

28.

29.

30.

The seeds of the Internet were
planted In

(A) 1891

(C) 1969

(E) Not attempted

(B) 1991
(D) 1990

The resistance of a lamp is 10 ohmg
and current through 1t i1s 2A. Its
POWET 18

(A) 10 W (B) 20 W
(C) 30 W (D) 40 W %E]
(E) Not attempted EJ‘HSE

A transformer operates al maximuin
efficiency when

IA) Core losses is minimum

(B) Iron losses is minimum

(C) Copper losses is minimum

(D) Copper loss = Iron loss

(E) Not attempted

The percentage errors in the
measurement of mass and speed
are 2% and 3% respectively. How
much will be the maximum error in
the estimation of the kinetic energy
obtained by measuring mass and

speed ?
(A) 11% (B) 8%
(C) 3% (D) 1% '

(E) Not attempted

When two similarly charged particles
are brought near, they try to repel each
other while dissimilar charges attract |
each other. This ability of a charged
particle to do the work 1s called

(A) Coulomb

(B) Electrical power

(C) Electric potential

(D) Electrical resistance

(E) Not attempted

06, e EA _ MAmmg
(A) 1891 (B) 1991
Pl | 96Y (D) 1990
(E) HIAIHA
a7, UF A o wiaay 10 AT 2 AN R
megn § 9Tl 2A 7 | aheh) TIfad 2
(A) 10 W (B) 20 W
(C) 30 W ) 40 W
() FwETEA
08, UF grEGML HfvHan Q&I T A% T
Fd A 9 ‘
(A) F17 1 AT FAAH @ 2
B) w8 1 & AT Al B

{C]Hﬁﬁﬁrﬁwﬁﬁﬁ?
})Hﬁﬁlﬂﬁ=ﬁfﬁﬁgﬁ
(E) Iaiad

29. amnaﬂinﬁésmﬁuﬁmgfgm:
29, 3 3% @ laaumaﬂirrﬁ?;tm
%mmnﬁaaﬁﬁ%mnm

Ffe et arft 2
(A) 11% (B) 8%
_AC) 5% (D) 1% ,,
(E) T9aTad E i
¥ & b

30. € < 9UE ENE S S T ST
STl R, a1 3 Uh-gEl i ufdsida w3 @
AT A, FElh WEAE A U -8
HI AThiea B 8 | Foret smafie s 6
ﬂﬁﬁﬁﬁ%ﬂﬁlﬁm?,?
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AL @ ~ AEQj3

.3\..1... “EQN T - _ :
31. “S58"isa system used 1n IS AT 1 i )
ATAT 2 — 1 T

A) Production practices h
(B) Safety practices —{B) qE g

) PTFS : (I 2P & S
(C) House-keeping practit (C) TR -=arey v &
(D) Electnical mﬂnuﬁu-[uﬂ”g % (D) |"3€]_f| ﬁTﬁTﬁ‘HI 0
(E) Not attempted

32. Under this Mughal

came under

(A) Mohammad Shah

(B) Shah Alam

(C) Ahmed Shah
(D] Bahadur Shah Jaffer AD) SRIG e T

(E) Not attempted

33. Which type of wire joint is found in 33. VM aH § fFE TR 1 AR e T

the junction box ? EIGIN- A,
(A) Rattail joint &) TS wrEe
Plain tap joi "

(B) Plain tap joint (B) = 3 ez

(C) Aerial tap joint 5
(C) ThEe g wifse

(D) None of these RN
D

(E) Not attempted ) Eﬁé qﬁ
(E) 3r9afaa

34. The average power delive

| red to an
Mpedance 4 - 3 . 34. fagd 5 cos (100nt + 100) A gry Wi
508 (100mt + 100) 4 - n -
) A 4 - i3) QI
Wy IS (4 - j3) ﬁﬁm?ﬁ%
B) 50 w 44.2 W
©) 625 w (B) 50 W
(D) 125 w Cl 62.5
(E) Not Hlttmpttd ( ) oW
A (D) 125 W
(E) 3r9mfaq
-8.
D
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35. In DC generalors, the effect of the
magnetic ficld set up by the armature
current on the distribution of the Hux
under main poles is known as
(A) Armature resistance
(B) Armature eltect
(C) Armature reaction
(D) None of these
(E) Not attempted

36. The end from which elements are
added or deleted 1s called

of the stack.

(A) Top

(C) Front

(E) Not attempted

(B) Bottom
(D) Rear

37. Unknown frequency can be measured

using

(A) Anderson’s bridge
(B) Maxwell's bridge
(C) De Sauty’s bridge
(D) Wien's bridge

(E) Not attempted

38. Sign of children near road shows
possibility of ~ nearby.

(A) School O 2%
B) Park 4@
(C) Home

(D) Hospital

(E) Not attempted

39. Moradabad is famous for
(A) Brass industry
(B) Sandal ol
(C) Newsprint factory
(D) Pemcillin factory
(E) Not attempted

Cq
- ""!-‘2,3
- ¥, 'i

f:_[a'm'l L -HTEI"-“ FI3 = ™ S
- il 1%
H{{"I_‘I

arg & T TN Wy g

35. gEl FATET A, W oy

‘ 38, HH & TH T4l H (U8 HAE-TH

41 g9 9T # |
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41.

42.

A

In domestic wiring, a switch is always

placed in the

(A
(B
(C
(D
(E

6 ohm and 4 ohm resistors are
connected in parallel through 240V L
supply. Total current flowing through |

Earth wire
Neutral wire
Live wire
None of these

Not attempted

the circuit 1s

(A) 10 A

(B) 100 A

(C) 24 A

(D) None of these
(E) Not attempted

Gurugram-Manesar-Bawal region of |
Haryana is famous for the production of |
(A) Pharmaceuticals

(B) Sugar

(C) Cotton

(D) Automobiles
(E) Not attempted

l'."'T, L™
Y
|.-| :'H:jd

The equipment connecteg between th
e

conductor and Bround, tq

(A) Current trangfumlEr

[BI Vul tﬂgﬂ ”anﬂfﬂfmer

(C) Rtlay

(D)

Llﬁhhng Bﬂ't‘ﬂt{:r

) Not attempyeq

~10-

a1 6 3im 3 4 3@ SRS 240 V I
3 wreqn @ gEAIE § 98 §U & | TRUY F
aream @ waTfRa B el Bl faed uw R

_|A) 10A

(B) 100 A

(C) 24 A

(D) 399 | I3 &l
(E) Iuamfaa
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44. In a factory, the following appliances
are in operation : 2 HP motor 3 hours

daily, 100 W lamp 12 hours daily and
1000 W heater 3 hours daily. Total
amount of energy consumed in a
month of 30 days is

(A) 134.28 kWh
(B) 36 kWh %u
(C) 90 kWh AN

(D) 260.28 kWh
(E) Not attempted

45. The first battle of Tarain was fought in
(A) 1192 (B) 1191

(C) 1121 (D) 1091

(E) Not attempted

46. In measuring instruments, under
equilibrium condition, controlling
torque (T,_) and deflecting torque (T )

daIc
(A) T, =T, (B) T, > T,
(C) T.< T, (D) None of these

(E) Not attempted

47. What is the frequency of an ac
current i = 42 42 sin 628t ?

(B) 100 Hz
(D) 628 Hz

(A) 50 Hz
(C) 200 Hz

(E) Not attempted

CG - AE23

ag, F FEH 4, FeafEfed svwm e

% . 2 Hp 9@ ufafes 392, 100 w
gfafea 12 92 31 1000 W #e wfafes
392 | 30 faa1 & vah g 4 @A &
a1 #1 F T fwad 2 7

(A) 134.28 kWh

(B) 36 kWh ;:_;{_D "SA

(C) 90 kWh O L "

(D) 260.28 kWh \

(E) AvaTd \ &
45. U &1 9YH Jg He oisl T A 7

(A) 1192 4B) 1191

i) 1121 (D) 1091

(E) Avamed

48. In python, each dictionary item is a | 48, YIYq ﬁ, A% TeCHIY] e T

key value pair, separated through
{A] : ‘Bl "

C) + (D) :

(E) Not attempted

) A o=1, AB) T > T,
(C) T.<T, (D) ¥ & ¢ A&
(E) 3SR
47. ac 9T i = 42.42 sin 628t F HFW

e ?

{A) 50 Hz (B) 100 Hz

(C) 200 Hz (D) 628 Hz

(E) 9Ty

RS e i R, R

M foh e R |

(A) ; (B) "

(C) +

(E) iy o

11
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49,

50.

S1.

52.

53.

The KMF induced n a conductor 1s
measured by
(A] Ohm
(C) Volt

(E] Not attempted

B) Watt
(D) Ampere

is switching device capable
of making, carrving and breaking
electric current under normal and

overload conditions.
(A) Kuse

(B) HRC tuse

(C) Lighting arrestor
(D) Contactor

(E) Not attempted

Which alphabet will come in the place
of question mark ?

D,KS,B,L,?
(A) X

(C) Z

(E) Not attempted

(B) Y
(D) W

e
Which of the following materials is a
good semiconductor ?

(B] Mica
(D) Germanium

(A) Copper
(C) Porcelain
(E) Not attempted

The polarity of voltage drop across a

resistor is determined by

(A) The value of resistor

(B) The value of current

(C) Direction of current in resistor
(D) The polarity of source

(E) Not attempted

-12- 4

gy

49, 7 :
R T 4 fr £ m o fay

. N
RLELEE o

| 54
obdo Al Y (B) =12
aag Y€} drez (D) TEIT
(E) swafam
s feufe & aza faea um = 5
A4, A A4 H{N ATSA § A4H 2 |
TA) HF
(B) TE.HH], BA
(C) TR T "
(D) Il Pf Et:"‘L
E) st (s
(cd“" S as
51. W f9%,$ A T FH-T Af 0w 7
e U | L O
D. K. S, é L, ? 1
(A) X (B) Y
IC) Z LT W
(E) A9ATHA
52 fofafEa 4 8 FH-T1 7914 TH F=D]
W= B
(A) T (B) 3
() I-fofi ) FEEAAH
(E) AWITEA

53. fwdl wffus ° ateed g9 &1 Y=
foree zm fautfm & w2 7
(A) T 1 OH
(B) fag@m ym =1 o=
_e) wfatas | famm g i fam
(D) BTA =T YT
(E) 39A1EA

1, o2A"

‘H:E’ I ¢ ] 21 y

A\
D RN
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54.

55.

56.

57.

S8.

‘he ancient sites of Kunal and

Banaw
Harviana arc located on the banks ol

411 i Fatehabad distnct of

Fvet
(A) Yamuna
(C) Ghaggar
(£] Not attempted

(I3) Markanda
(D)) Saraswati

Hysteresis loss is a tvpe of

(s

i o

S

(A} Copper loss

(B) Iron loss

(C) Mechanical loss
(D) Fricuon loss

(E) Not attempted

For a ‘P’ pole lap wound armature of
DC machine, the number of parallel
paths are equal to
(A) 2
(C) P
(E) Not attempted

(B) 2P
(D) P/2

A is used to make or break an

electrical circuit.,

(A) Switch (B) Fuse

(C) Potentiometer (D) Wattmeter
(E) Not attempted

The Champaran Satyagraha was

organised against the British

(A) For increasing the salary of the
Mill workers

(B) Against the refusal of remission

of revenuce

(C) For forcing farmers to grow Indigo

(D) To protest againsl Jallianwalabagh

Massacre

(E) Not attempted

.13-

g (C) Fenvemmd

Ca .
549. g &+ FAREeE Fae 8 3
4 & ar= S T
m#‘ - J_TJH il b N
et f7aa 2 T 4
(A Jﬂ:.lf” (8 [r-"i-lrjg
/r((] IS B (1)) I.:*:;‘_]_h

(E) ﬂ‘]’ﬂTfﬂ?l

55, feedfidm a1 F FHH 2
(A) @@ 1 A&TH
_4B) A8 %1 ATH

56. DC 99H % ‘P’ A 9 A30E HHT F
gl & 7

(A) 2 (B) 2P
AC) P (D) P/2
(E) 31vam&d

57 fagd wftaer w1 591 a1 a3 # foqo
F1 37T R e 2
(A) =g AB) W

(D) areHtet

(¥ Scanned with OKEN Scanner



9. A type of protectiontwhich WPEHRS b L gg 5 o e
. withou . i ML) 35

only the magnitude of curren e HI o farmy e T Fm -
taking any cognizance of its Plase T F iy
S = i w2 - _ M 53

angle, 1s known as BF
. 4 )

(A) Over current protection | _-_ q};‘, () et f: R S

(B) Directional over current protection I

(C) Non-directional over current

protection |
(D) Directional under current |

protection (D) fe¥iia . 5 ﬁ"lﬁ T HJiem
(E) Not attempted (E) 3warfaq

60. In a diode, flow of current 1S

(A) Unidirectional (A) Uehige

(B) Bidirectional (B) fafesfig

(C) Reverse e frad

(D) None of these (D) 378 d &I T
(E) A5ETiHa

(E) Not attempted

61. Diversity factor is the ratio of the sum 61. fafavea sr= gt Ry w ==fFm

of individual maximum demands to the Hftreram 5Tl & AT 3R o
on the power station. I ERln ‘E I

(A) Maximum demand ~(A) fepay Om

(B) Total demand (B) Fc HI

(C) Minimum demand opdA0 (C) =LAdH qI

(D) Individual demand OFy2 (D) =afeama @m

(E) Not attempted | (E) 3rwanfes

62. In Haryana, Surajkund crafts fair is | 62. gRamnm 3 qEhe gEANed Hef wfq ay

held every year in the month of A8 ¥ & 2 |
(A) January (A) FA=l
(B) February ; (B) Hatt
C) M
'f ) ﬂr:ch | o) e
D) April (D) 3
([E) Not attempted (E) IS
-14-
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63. Conductance IS A ST e

| nt .
(A) Siemens (B) Joule ne anit
(C) Lux (D) Lux/m

(E) Not attempted

Which of the fﬂllﬂwing IS not a class

of permanent magnet material ugeqd
for electric machines ?

(A) Alnicos

(B) Ceramics

(C) Silicon

(D) Samarium cobalt
(E) Not attempted

65. In 4 point starter, the No VoIt Release

(NVR) coil is connected in the
(A) Field circuit
(B) Armature circuit

(C) Across the supply line through a
protective resistance

(D) Both (A) and (B)
(E) Not attempted

Which number will come in the place
of question mark ?

SR
Ol

‘ 68 4 @se wLH A aee &S (NVR
| Figel fpad 1 8l 8 7

66. W fug % TH W HH-H wE@ e
)

|

]
—

(A) 38 (B) 39
AC) 40 (D) 44
(E) Jrsamfirg
67. T ad ¢ ¥ WA w3
STl R |
(A) S ¥
(B) ¥et &1
AC) Torpe 4 D) 3 Tt
(E) Twenfiy

-15-
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68. is used 1o insert © ”:k' : 68. % & far w LU UF 39 gy ﬁ
sl €Il : A
element to the queue at the real U F1 ITAM f‘hi
- My 7
(A) DEQUEUE (B3) Q“WE (A) DEQUEUE (B) QUEy
(C) DELETE (D) ENQUEUE (C) DELETE (D) ENQUgy,
(E) Not attempted (£) 313 A
69. Radiation is a JE— hazard. 69. fafwm h_ ELLE
(A) Physical (A) e
(B) Chemical B ~|(B) Ui IEE
e o3 A=
(C) Biological Cifre €) :
(D) Mechanical (D) LES
(E) Not attempted (E) AT
70. Python allows us to join two strings 70. 9EEH E’El Fi-hleA9H FHTHA H
using concatenation operator plus F1% 31 fgm 1 st 28 6 T 3
which is denoted by symbol e 2 R
(A) + (B) [ﬂ)‘:g" m) + (B) “n
(C) $ (D) % E”:f‘m (C) $ (D) %
(E) Not attempted (E) 379144
71. Tree system of wiring is most suitable | 71. IO Fi A yonedt e fow 7a9
for I9gF .g ?
Yl Siadovn wising (A) Tirgm &Y Fmatar
B) Ind ' iri :
:C: [;'I ustrial wiring (B) Sy arh
omestic wiring ;
C) wie] I
(D) Multi-storied building 5 .
(E) Not attempted Jb) % IESIREE
(E) 3rwafae
72. For all practical
Purposes,
of carth is taken as | Lo | 72 T R st & for g ®
(A) Infinity - wrefEe A g =g i foren 9 2
(C) One (D) N (A) 34 _48B) F 1@
Oone o
(E) Not attempreq Riheee () T (D) 37 A F
A (E) 5gTiEa
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73, In the tollowing question two
statements and two conclusions

given. Read the L-nnrlua;:un:-; and

decide which of the given conclusions
!thi{.';l”“ln‘ f.l.I“u!.l.'_g.;_ )
Statement : B < 0= R<N.
R - .."x 1" 'r — E
Conclusion: | E > N
II. B>T
(=] 3. [8]
‘A) Only I follows Nt
B

(B) Only Il follows

(C) Neither | nor II follows
(D) Both I and II follow

(E) Not attempted

A transmission line is said to be an
ideal line if

A) R=0,G=0

(B RG=L/C

(C) With a large value of R and G

(D) RG = \/E/L

(E) Not attempted

74.

An energymeter is
Instrument.
(A

Recording
[B] Indicating
IC Integrating
ID) None of thege
E| Not attempte

"'dlU.I':] Wil U _[Exﬂudlng ste

Step valy, difference of thepgiven
) for

(C : B

{E‘.i while ( ) raﬂg'e_-”

-17-

T
7. et we i, | Q”“’-la
fzo mo & | arg i-rr.- ,ﬂqﬂ A
..* 170 i #rm-a hu.;ﬁ i, ﬂ‘::h‘
l_::ﬁf S 3 8 | kX B - M,

']
FE:B<0-R<N

R>A2T=E
Ferd. | £>N
[I. B>T
4A) FAF | FTE FTa
(B) IS 1| HH™0 Faeq1 2|
(Cl?mlqﬁllmma

B} 1311 2T s e 3
(E) 3m9arfae

74. U JEMYA T F 37Ted @A Fay o
® afe
(A) R=0,G =0
(B) RG = L/C
(C) RIAN G & 92 gH & T1Y
(BT RG = JC/L

76.

RY I F 3w ¥ am
I (R 3 1 Brs) 7

S el et & fore

(A) for. _AB) range()

(D) continue
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78.

79.

80.

s a discharge of
| a combination of
nductor

The I

electricity thrmia,l

co
ionized air and vaporize€ >

material.

(A) Fuse

(B) Power arc

(C) MCB

(D) None of these
(E) Not attempted

Which of the following circuit

breakers doesn’t use air or gas as one

of their medium ?

(A) Miniature circuit breaker
(B) Bulk oil circuit breaker
(C) Air blast circuit breaker
(D) SF, circuit breaker

Ope0
(E) Not attempted 1%
The Udanakootam is the

intimate group of the King in the
administration of

(A) Pandyas

(B) Cholas

(C) Kadambas
(D) Vardhanas
(E) Not attempted

_1s an electrical breakdown

of a gas that produces a prolonged
electrical discharge_

(A) Electric spark
(B) Air blast

(C) Air brake

(D) Electric are

(E) Not attem pted

CG.
AQ.

77. Wmﬂm E
mﬁ%ﬂwaﬁm‘imnf
fadea 2 |
(A)
~{B) TE HTF
[c)tmrﬁa‘l
(ngilﬂﬂa?fé:"ﬁﬁ
(E) wATHa

78, frofafaa o @ HH-A1 8 3
meam % €9 0 & AW F oy,
FAT 8 7
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‘ T AR
ection of force in @ motoring 81. wuzfr fFan i aw B e . 23
§l . . de termined by EDIRGRAGIE - * 2m
e n ng s right hand rule (A) 'F“fﬂm 1 Tifien .
i jeft hand rule NB) FAHT HT AW 71 % foupy
B Fleming s 1€ 3 e
IC End rule b rule | (D) anﬁq HOK T 3:{1@ F h“-ﬂ-{
) Right hand thum =

£ Not attempted

arning traffic sign is

Th Ehﬂ s Uf W
B 'he P ! (A] Tﬁﬁﬁ"ﬂ'
y) Crrcular
31 Sguarc
C) Rectangular 340
D Triangular Df E] e
E| Not attempl€
. - -1[ X 22 | & oeefigd
3. The simplified form of ' 83. tan ; - tan X+ /
-1 x =1t XY 1.
| I ual to
tan [\] tan [x+y]lseq ¥q B
n A (B) 7
Al O (B) 3 e - 4
C e D)
0 5 (D) = il .
E| Not attempted | (E) SRR
|
4. The device that converts optical | 84. d8 39 S JAifeeehe e i faga Fi
energy into electrical energy is , T gftafda s 2
A) LED (B) Photo detector (A) TeTsel (B) ®II faeaex
C) Solar cell (D) PIN diode l J€) °R g (D) fo7 smE
£} Not attempted | (E) i

15, '
—— IS a Jmnt formed by Jmmng two 85. "-Tl@ % a 33"_6.»9' _""ﬁ ﬁ'ﬁﬁ: ﬁ ‘ﬁ'ﬂﬁ daeh
Pieces of metal edge to edge. | SAEH T4 g B

(A) Lap joint *m] @-q 3'313

B) Butt in;
1 joint (B) aggﬁg

IC) Tee in

D) ¢ . Wy l ) 3 =
orner joint A s (D) i ?ﬁ?

E) Not attempted (E) 391Re
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86. @3 IdEld H’,JHT & el TIT!,U[ TN o
a3 ifetn wfda &1 3EN 0 fa

. _ _ L—i‘_,,-:i,_l__:
08 HEH-d 8 7
(A) 1 3T (B) 0.5 31
(C) 5 HIA () 10 3
(E) HuATEd

: AT
(A) ATTH 1B ©
i () Fwatad
gg., WA gﬁ!m Hﬁﬁ s H {3

g e |
to the circuit. (A) HHFTAL
(A) parallel |
(B) NEU.U'E-I I -
(C) Series 1 ) (D) el 13 faforea T2 2

TR i 4 4ft/d. Hi
The sides of an equﬂati_fjlcﬁ;‘zge;;: = ? ag @l %ﬁ?ﬁm 14 @02, T
' : the rate 0 :
ﬁ:mgh?zh ietsra area is increasing, #AFE o " Pl & g
when the side is 14 cm (A) 10J§ ﬂtﬂzfﬂ.
(A) Iij_s cm?/sec (B) 143 Tdi2/4.
(B) 143 cm?/sec o 283 THfi2/8.
(C) 28J3 cm?/sec % b vz /|
(D) 14 cm?/sec i (D) ;;um |
(E) Not attempted (E) : # quA qfam
In 3 phase systems, 3 voltages have 90. 349 S[Uﬂﬁ"ﬁ Y %ﬁ:{ RS fet 3
same magnitude and frequency but 3R anqﬁf i e
?mﬂwmmmor_ o 3ia A 8 | (B) 60
:gl} gg }g; ?020 (A) Zg ';] 120
(E) Not attempteq “(E) s

-20-

www.mseducationtv.com

G Scanned with OKEN Scanner



. tance is measured by
slote

& ' |.1||+ I'E"- _
(B) Ohmmeter

(D) Currentmeter

no well-deﬁned
tains internal
arate data

ave
L'h hd\

.t W hi .
R t maiil

"~ qure b
© . markings to sep

+:".'” fn[b 1re f'a,_llf-'d

7, Organized data

= Not attempted

33, Which safety device should be used |

~hile driving a two-wheeler ? ]
4] Helmet l
B| Seatbelt 2

(C) Airbag
D) None of the above
E) Not attempted

This instrument of Haryana is in the
shape of cup containing 2 cymbals
and made up of brass

\A) Manijira |B) Taasha

() Dholak (D) Sar '
E) Not attempted ] M

95. The carrent inan OpeEN circuit is
(A) normally ye

B} usugliy 1
Yy hl;_r’h enc
Cireuit fase Yugh to bluw the
'(‘l 26170

92.

(A) dreHte D) ST
(C) dteeHTa (D) Fizfi
(E) mﬁ:ﬁ

ar 2 famd &g F=H1 @7 A vy

AT A81 B Cfehd 221 dedl B e Fid
¥ feqo wvates &n A1 f=el & S e
%.ﬁi“ el JATd 2 |

(C) THET
[Dlaqﬁaﬂﬁﬁaﬁé:fgf

(E) ITEd

os. FhmoT 1 T 37 et A T 2 7 A
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96.

97.

98.

100.

s definéd asyhe "
. _ o
nous flux E‘Ufﬂ_n l.n
e unit solid

intensity

amount ol lumi
a space represented by on
angle by a source having ””_ |
of one candle power in all directions.

(A) Lumen

(B) Luminous intensity
(C) Light

(D) Candela

(E) Not attempted

In a dynamometer wattmeter, the
fixed coil is

(A) Current coil

(B) Potential coil

(C) Voltage coil

(D) Resistance coil

(E) Not attempted

The layout of this wiring is done under

the plaster of the wall of the building
(A) Conduit wiring
(B) Cleat wiring

(C) Casing-capping
(D) Concealed wiring
(E) Not attempted

The probability of happening of an
event A is 0.5 and that of B is 0.3.
If A and B are mutually exclusive
events, then the probability of
happening neither A nor B is

(A) 0.4 (B) 0.5

(C) 0.2 (D) 0.9

(E) Not attempted

1 yard is equivalent of feet.
(A) 1 (B) 2

(C) 3 (D) 4

(E) Not attempted

_ chl HHI IG¥IIHI H T

FT3 31| 0 g1 g9 e FuTe A feu m
faaa Fad &1 °E & ®9 4 gfoniys
faman smam 2

(A) =gH

) ~gfvm sefafe

(C) «T§<

(D) F-gAT

(E) rwaifya

98. 3§ alafuT @1 AR fafeen Fi fan &
W & A1 foar s @
(A) FEE AR
(B) FeAte FAfaT
(C) FHfEnr-fim
4D) FHice IR
(E) 35t

99. UF UZAT A& & & Wifsar 0.5 8
R BH 0.328 | 3R A 3 B IwER

AN R ATAATE BEA H
urfrenar ®
(A) 0.4 (B) 0.5

~{C) 0.2 (D) 0.9
(E) JwEnéa

100. 1 9 $e F WL R |

(A) 1 (B) 2

Jc) 3 (D) 4
(E) Fsanféd
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